KRAUSMANN rQNIAKOZ TPOXOZ 0125 800W 8455

POWER TOOLS ANGLE GRINDER 0125 800W

No. MNEPIFPA®H No. MEPIFPA®H
1 Grinding disc 25 Screw M4x12
2  Griding wheel cover 26 Pinion gear
3  Screw M5x25 27 Rotor
4 Wheel location washer 28 Carbon brush frame
5 Weel lockation washer 29 Screw 3x6
6  Circlip for shaft @5 30 Carbon brush
7 Nut M5 31 Bearing 607
8 Output spindle 32 Coilppring
9  Woodruff key @10x%3 33 Bearing bushing
10 Screw M4x14 34 Wind guard
11 Spring cushion @4 35 Stator
12 Flat gaskets @4 36 Housing
13 Fore cover 37 Trademark
14 Bearing 6000 38 Capacitance
15  Circlip for shaft @26 39 Cord guard
16 Gear 41 Cable
17  Circlip for shaft @8 42  Screw M4x12
18 Ogallay bearing 081012 43 Screw M4x14
19 Screw st4x16 44  Cable clip
20 Break spring 45  Switch
21 Break button 46 Push rod
22 Gear box 47  Push twist
23 Bearing 629 48 Wrench
24  Bearing cover 49 Handle




